3007,1 _y
332,1 P 2100 s 575 L 155 W"
5
’ y :
80 ]
= 200 1615 6x16,28 o 90 o
558,9 31 a
(5 — o 28 | 1] |7]200 — &
o o b
Q E3-29— B -
© 0 g = | _ 5 [Schody 503
== L 0O O g 2 207
304 J || AN — —m‘t— ———————— —_——— —l A \\ B.pOm °| Lastryko
11 i a =
SR & [ 1 |Pom. gosp ! 5 @ THAR
szklane FIG0 % 1.50m7 Parkiet L | &
A4 128 L 324 ¥r28 432 ¥—r28 | 494 43 135 _O‘F 314 58 !
1,02 @.0_0 |
.02 4 - G
7 1434 | T 469 5 nol @
. 145 o
® |w o = 0 N | = 140 D4,00m]| Lastryko | 5aa—
| ] o : 200 ig!
219 il 3 [zapl. sali | & 4 2Solo | - 200 H=2,24m {7
0 |= 51,80m | Parkiet 39,0m Parkiet | 4 0 R
\2 2Pom gosp 1 H=3,03m H=4,90m | Z T~
- L
slsom] Parkiet 50 | 8 20/ "
H={3,03m 1305455~ = 20 7 [C niegiptnos.
N 200 | P X
lane €160 | wingo b » so‘é =g\ oo [lfestho )0 o
1 > < U
=S T R ) _ o\ Y e )4 —%
I~ R I e I —D'————J < 8|% g[8
— g 178w 1500
IS 2 & 9 [Iwe 1 7 e
o 778,95 = I \‘; \ o y L ,|30m LastryK 12U 00
}\O. [ \¢ 2 < #,90m| Lastryko | 1] —cT: — 5 FQQ._
WV o o o
§ ool = o 4y 2R =% T g
467 ; : o
- ol O © g 2
A ‘n‘ll R L — U 11 11 1> 2
— 1k I~ I I
N 14 2chutkcl schi . 100|113 [Komunikacigl 11 |ZIZ| | | o — S
Sb3,80m] Piytki = 2K17.5 05 00k.80m 3 Parkiet & | | | Pustaki szklane
Q 9| %_11,70 — QIR olN ol O o
150 25 150 L F=2,50m Zejéclelwﬁr#cy o & [ NI L = L wlo \’
— B 170 12 226,5H30 = 200 — 263 200 - _ — 243,5 286 80_L 67 155
e 05 N . - O. _
e ] 12,08 o8 L r 1897
~ —— — — |~ 1,70
A Ob-.EinscE\)uu nah
flfln 32 12 |Pom gos Garaz N
w
~ 3 ef 2 6,60m| Parkiet o Pos. bet. & Q_P
bl
[x& f & 5 H=2,50m o H=4,5m a1 00 A
= o118 I_
gH1e
[23
3
o
180 84 38 1 4437 59 887 —
F M Scianki nowe z ptyt G—K
n .
. 1] | | ;i : K Sotomy none
0, (LY
(o)
101§ )/ axls = —_
4 %4 30 .
5 97 JL JL JL JL }_} Wyburzenia
5 59 155 eee 155 219 136 75
10416 | | Sciany istniejace
11 [Klat} sch. ([30
% VI LasTr O
|w Garaz - poi
Pos. bet. 10 “
H=4,5m
2 10 |Wspinalnia
N
0,50m’| Pos. bet.
F
Juso
X
i+
L 1527 2
A —




